0243%= AUA}F ARE F-rARE HAIRQE

(2]t T A2861%)

A AR 3 A
1. A4

b AEdA 2 A=A 2024, 11, 14 AT T
U 3 7 d A 2024, 11. 14

o & A -9 2 d Ak 2024 11 27, 713 9] -

2. Al A (HHA: AFA o]EF)
7h, A LA
I v - SRV AP B SR =4
At A5 B ARAC tiete TEaAat B EF dEH All0xe]29
AL AAH, AdTZ met 202495 AldxE FAE SRR A ER

Alel(al AL st g,

T~

2]
=)

U At &

T T H A (m') 71 £7HE (A 4) H 3
A 33 23,092 4,250,924
A5 | BEA 13 18,403 2,065,994
A% | 15 4,689 2,184,930

A | A |15 4,689 2,184,930 A

o ARE A



H] 1L

Z3A7 13

35,068

2,030,426
2,184,930

1,140
17,263
4,689

1
17
15

Ao

3 AaTEy A 2=

o_um@m_xumo
oo B o N
T o e
i R
jm}
br =
N = M
* || ol |
® 8 B S E SR RE R B
v |g| SRR R R
—_
7 -~
\EI
~
=l = (G828 EE R R EEEEREREE
/m\m — — — — — | —| — N
J&|B,
< | ®
5 ol B B B e P Ed
w | KR 3 |B|EBEEEEg B85 8RS
™ ™ ™™™ ) ) )
3 2N < | = = R
= o <3 RN Y
< o BB E | BB BB
X0 T | TV | T | % | Y | Y | T
= B o) o) | oy | oy | oy | oy 3 B
= £ NN |R | | X | B7| 5 N
E_lﬂ X X Xﬂ_mox ﬂAro ﬂAro
%|s BEREE BEE
o} — o = © = <3 =
oA




A & A man | B
29 AFHEE |5 gz s | e
M= 2z & A A |88 A7l
A 15F 4689 2,184,930
AFd | 3lshd of4le] 157-1
1| < A 2177 847 464
= 9| 9 A TE =237}
. 0241 Auiape]

P A 322

ol o 4 6 2,012 1,337,466

ol AATEE HE 25

aE
A 4 % Al =5 | JE
23 ARG AT e g | o
U= 2z 2 A A |88 A7l
& 7 15% 4689 | 2,184,930
e | B)shd ojale) 157-1
1 °° Sleha efe 2177 | 847464
= 9| 9 A TE =237}
A5z | 3o ook 24| Auakg]
o E|SEMATHAIZ oo | L )
9| & AV 65 ’ T

ot =
e, AR Wek DG B RS B4 D FEAAS
x4 5 270 t8) ©)5)9] oA WA AEH Ao AEEY 2

A ofelsh 2.

O 221 1HE W% FRUE 743 L FEAYY =4

- B e Al Moo g AW 94N 11400 H 53]
5RAAtaBAL FAAY JYFANYOE w5 - FHRUIS 5
FAg 8 BNE FEAYLE 2HFRA e Aow

- mhgol A 200m o) Mol RAY $HE Adte] vl



g g o

o]
H

= 37
SAE FE2

TR
et

K

t

AL A 42019102 3shd ol 157

=
)

=

1784 17,263 md

L=
[¢]

=

O

—_
file)

il

=

Aselm, A4 AL 15% 4689 AS F

K
p2

e

N

O

4. o 5 g aX: AL 3o F 7|A)

olp

E

5.

6. AAFEF}: 2024. 11. 26. Y+

7. 2591749 88X gl



